
Worksheet 2   

   Operation with numbers                                     Maths 

Solve : - 

1. Add 5407310, 8499428 and 7393638. 

2. Subtract 1274595 from 4651820. 

3. Multiply 2309 by 423. 

4. Divide 24174 by 28. 

 

Solve the following word problems: - 

1. Bharti earns Rs. 48,35,500 in a year. She spends Rs.39,97,860 

and saves the rest. How much money does she saves ? 

2. A company produced 78,61,549 m , 40,71,995 m and 48,66,727 

m of wire in 3 consecutive years. What is the total length of wire 

produced by the company ? 

3. Raj deposits Rs. 2350 every month. How much will he deposit 

in 4 years ? 

4. A farmer harvested 10,35,792 apples. Out of these, 5328 apples 

rotted away. He packed the good apples in the boxes. If each 

box had 576 apples, how many boxes of apple did he pack? (use 

multiplication method). 

5. Nishant draws a salary of Rs.12697.50 per month. Find his 

salary for 7 days.(1 month=30 days). 

6. A bus covers 270 km in 6 hrs. What distance does it cover in 

one day ? 

7. In an election there were three candidates A, B and C . 

Candidate A got 65,38,496 votes and Candidate B got 68,35,608 

votes. If the total number of voters were 2,36,50,608, then how 

many votes did Candidate C get ? Who won the election ?   

 


